... Jwith List-I1. 1 Y
e
| Ijst E I g 28
TEﬂ“ B % .,liﬂilbn
searcity £ ::mng
ion g :

Consumpti _ i 0fusing poods and services to satisfy want

C MEUDECDHUI'HICS RL Ltotal amou.ntof Output in the economy
i O hum lly be produced to fulfill

Aggregate demand v &‘"Wants_ an wants over what can actually be p

D R

: bl‘&nc h of economics that studies economic aggregate the overall level

qq}- €2 'H'I?I!ﬁ& - 11 =1 faerm %pﬂm& Outputand employment in the economy.
-1

- 11
w b

i b O st o g s s 5 i 77 97

L T/ L el ¥ fnfa 21 e

¢ wufe sy I 3%\ 4 seemfi # fo senfea frg o @ e wrEE gl #
Hferan

D. TG A IV. St Fere, a1 omerean & o, SME2ye ST SR & WYV TR A A
T ATt AT v

Choose the correct answer from the options given below :
4 frg o et 4 A Wl mw%ﬁﬁm :
()  AJLB-OCOL DIV N~ (2 AL B-“f: CILD
B)  AJILBLCIV /D‘Il 0 DK AV, B CIL DI

¢ hypothesis testing in the proper sequence.
" Amange the following steps of l:ht‘:pwi afhypo

; ish the decision rul

ke e ﬁveh}’P“ﬂ‘ﬁs B.  Establish the BClS‘iCln.l' e
h up nulland alternafESEE b Selectthelevel ofsignificance

Select statistics y - Pas iy -

2 conclusion Ifma_ﬁ@

£ Perform computationaﬂd W‘ 5 a,’faffﬁ aﬂa;q'ﬂfaﬁmﬁ: i -_-‘_1_.-?:."; I FWF}*"?
wmﬁm%ﬁﬂw g e T e P
o e @ O femmea
C o TG O

Wﬁmw ﬂ:m ',;,', ‘i"‘ e 3

by A { ‘ - Ree N SR d a

: "ﬁﬁmaﬂ!ﬁﬁéﬁﬂﬂ“ .slvenl:ll!lﬂw

%se the correct answer from ¥ :

?@mﬁmﬁwﬁwﬁ;
| ADCBE @ o

|
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128. Match List - T with List- 11 List. |y

List-1 Rel y
Provision under the i €vant Sections
. Act, 1
l.ndta‘n contract L Section 3
A Contmgeflt contr IL EﬂCﬁun 15
= I Section17
C rauw 3
IV. Sectio
D.  Coercion n 148
w-ttmﬁ.uﬂwm- _
et
-1 |
T e aifufaw, 1872 9 30aY it urd
A ST EiEE LA
B UMM L S5
C  weErst M =@y
Choose the correct answer from the options given below :
= fau U famedl | A W& I F 999 HI9C
«~(1) ALBIV,CGILD-I (2) A-LBILCIH, DIV
(3)  A-ILB-ILCIV,D-I (4)  A-IV,B-II,CLD-I
129. Match List- Iwith List-1I.
List-1 List- 11
Determinants of Meaning
Service quality
A, Responsiveness L The Provision of caring, individualised attention to customer.
B.  Assurance . The appears of physical facilities, equipment, staff and communicatior
materials
C. Empathy I The knowledge and courtesy of employees and their ability to conve
_ trust and confidence.
D sthies IV.  The willingness to help customer’s and provide prompt service
- 15wl nw w0 SRR kb
et -1 4 “
e oTerer i Pt
A T
B. swEEA
C. Wy
D.  Hia/qEn
Choose the correct ansyer
j}ﬁw T ferered LR 5 e
) A‘W; B-]ILC.LD_]I
(3) A-ILBLCI, Dy
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T T S

arrmu%afﬁmum,l{s
Wmﬁﬁrﬁﬁzﬁwm@a:m%:

ﬁﬁ%mﬁmﬁmﬁaﬁnmﬂﬁa}%amuﬁﬂ & & i swvafae

e oS/ T oy B8 et e s i s et o o 28 9
i YRS S T T I'WZWW%WEﬁWﬁIﬂWWW%I

m@g.wmﬁm mﬁmﬁzﬁmﬁw%ﬁﬁﬁﬁqﬁﬁma‘mm
Fyrdie aifevmed ifaa = » T s stfiramer At e =1 i ¥eH w9 £

e N | PR e 1t St 5 it a1 o ot s T 1 A ) LA

g EE O TN ) v s i St e e ST | T v s 97

s % S T e

s i ST ) e ) T VTR A e o & 1 56 o o g & o
:ﬁﬂﬁmﬁm%mmﬁWWhmmwmmmhmaﬂ

4L

YT 8w B v i FRt w5 afa @ SifEn 9gh 7= E)
How does corporate governance hej

P in Bx 1 3 Faa L - & ?
(1)  Bycompeting with large Posing unethical policies or mismanagement in a company

sized companies

3 By fixing responsibilities and Promoting openness

142,

3,

() Assumed return m‘l
L) Confidence in true aﬂ@ﬂq

'f'} By focusing on short-term gains

4) By promoting silxglwnbmm

Fraie sifiere fEe S o e e} o e = W A wer w2
1y Tawmer smwr = Fut Ezea
) vEwefea gftfy=Ea #1F T FgE o

@) oFFaEty @il 91 EE
(4)  THE-gEAN JUIE

How does the passage describe%ﬂm governance asasystem ?

(1) Timeconsuming and ineffective

()  Hiding the risk of fraud
Anopen democratic system

(4)  Perfectly capable of removing

T s o 3 T H AIE A
(1)  Tom-waeten 2t smpwEt

@ EEEFERR gy o
O Fo whwE ¥ am T
() v - R

with some drawbacks
fraudulent prac tices

7 fopm W forafird = & 7

According to the passage, what? %

RS 3 s e A
0 v gffrem foedl
®) v v e o foe®

ARN
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@

] ofﬂ-.emﬂﬂwmgls;am
DahnahonStatement h"‘M

A categic Linkage Model - ofa Third Generation Balanced Score Card ?

¢ th Di B.  Strategic Objectives
E EWWE':ri: :nsw & D. Measures and Initiatives
(hoose the co er
0 AB,D,Eonly (2
Wﬁﬁm‘ﬂm‘nﬁ B,C,D,Eonly (4 A.CD,Eonly
riqes T/ T9= W 3qs § 2
FfaE A HE0 3 e rHifaF IR
. Tt EaE fafafrmm lo 7 3 v
43 feu o faedl © A w@ mqw
() FaA A, B, D, E
(@) #FaaB,CDE @4) FEAAACDE
1, Match List -1 with List- 1. OD
Seal: List-11
[team ' Head
A Interest accrued on Inva!mn L Current liabilities
B BankOverdraft . Property, plantand equipment
C  Trade Mark OL  Current AssestInventory
D.  Stores and Spares IV.  Current Assets other than current Assets
mﬂﬁmmqﬂlmﬂmmdmt_
Tqet-1 o -11
o o ™
s e 3ufeR et :ﬁﬂ?ﬁm
b siargie = ke
oAb &) T L G ;Iaql%mf
: AfErl & TEE 37 = et
D ven s sfafaa _ e S
Choose the correct answer fromh i .
A o e 4 & il ST

# ""“"‘EE the financial institution

(M Av,B-m, C-11, D1
B Aav,B1,cm, D1

Imperial Bank Vi

Life Insurance Corporati® f

Regional Rural Banlui"l
Wit it e 21 3
A i g

Wity St e fe

i e S
N

%&“Mﬁm#ﬂﬂﬁ
AB,C,D,E @ -
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. 1 of the following Sta

The first RRB’s were estay, ‘N% ‘

The RRB's Act of 1976 i n‘hed on about Regional Rural Banks ?
- : licy October 02, 1975,

The minimum paid up ble,

The Service of RRB's arq of RRpy,

ay
RRB's are owned by Ce I dilab). inth o
50%, 15% and 35%, alGg, & ™ the state of Goa and Sikkim.

1Nt State in the proportion of
Choose the correct answer frop, the ? : ! governments and the sponsorer bank prop

) A,B,C,Donly 2) B,C,D &iven below ;
Mﬂmﬁ*aﬁﬂmﬁﬁﬁ: () ABDEely (4 ACDEony

33
mmaﬂﬁzmlmﬁmﬁ:ﬂ;n:%?

s sfufam 1976, %t |

A
B.
C AATET i :qmwﬁmﬂ?%l
D
E

:!“A

1810 crores,

™m o N w

mm#mwmmmﬁmﬁﬁa

mﬂﬁ‘?ﬁﬁmm T3 WO sl Wi S 35 W s 50%, 15% ieass & s A ¥
o feg e Fereredl & B T IR o i

1) FEABCD (9 Wﬂ,‘;d;,}i @ FaWABD,E (4 Fa9ACDE

L)
157, Match List - I with List - IL, O .
List - I (Pricing) [\“ List- II (Meaning)

L Starting with rate of return objective and then setting price
that will yield desired rate of return.

Adding standard overhead cost and profit.
Firms disposing off excess inventories or used goods.
Adding host of inputs such as buyers image of the product

A Mark-up Price e

C  Economic value to Customer

!
B.  Targetrate of return pricing (N
Pricing. T
Iv.

D, Auction Pricing performance, warranty quality, customer support and other
softer attributes.
L :
ﬁ-l#mﬂ@-llﬂﬁm. hirl -1 (o)
R - 1 (g ) O | e SRV @ ST O S e At Wiee a1t

T ampmfefosm

O | et v s s

Ot g s -t e 8 et

S o s A I g e 9 3 B9, 20 e, v s
T c‘ﬂ Vg sl 360 5 et 8 s

" Lk ATk ‘.';-\-r .'!_

Chﬁﬂse the correct answer ﬁwﬂww H

e

A T g

R EEE S
U A1BmCm DV - @
A-II, Bl C-IV, D-II AL A
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me from house property is not chargeg

138. Which of the following inco B. totay

Property helq .
é- ;ﬂzﬁﬁﬂ self-occupied house.  D.  Place Ufe’(-ru[:? charitable purposes:
E H:Iuse property of registered trade union. »
Choose the correct answer from the options given below :
@) BCDEmy (@ ACDonly _ ) ADEwmy (4 ABDEonly
qﬁﬁqﬁ!ﬂﬁwﬁrﬁaﬂﬁﬁﬁq—tﬂmaﬁm_ﬂﬁﬁqﬁg;
C. AR sy =-FEfEd T D, . - 5 i
E st aw B9 F 8§
3 frw o ool 9 A WA I B A I

(1) ¥s@BCDE (2 FFMACD (3) FEAA, DB @) FaAA,BDE
139. SUGAM is also known as:

Ty 1 Frafefad 79 3 o S S E
(1) ITR-1 2 ITR-2 () IIR-3 @) ITR-4
140. Match List - I with List-11.
List-1 List-11
Deduction,- Related
A, Section 80 DOB L Deduction in respect of Contribution given by companies to political party
B, Section 80 E L Deduction in respect of rent paid
C.  Section 80 GG I Deduction for Interest paid on loan taken for pursuing higher education
D.  Section80GGB IV.  Deduction in respect of Medical treatment
Gt - 1% =19 Feit - 116 e wifs '
-1 T - 11
werdt e
A HRIS0DDB L O gRT T 2 i R e AnEE & way # e
B. HMSOE L ded g & gy | Fwed
C.  HRIS0GG M, Swea e T e o o Te T M B F ey o
D. HW80GGB v, fafen soan & ey | w4

Choose the correct answer from the options given below :

== fau U fawedt § | w@ 39 1 =Ea Fie

(1)  A-LBILCII,D-IV (2 AJLBIMC, DIV
£ AIV,BILCILDI (@) A, BAV,CLDT

Read the following passage carefully; and answer question No. 141 to 145. .
Introduction of Co rggme Gnve;mmmacgpw‘hmgs order mdmeell];llbds in decision making process and

fixes who should own the responsibility, That is theg al and role class 'f";‘he] er-gﬂﬂ ! The'Cﬂumy will focus on
its mission, vision and notany personal likes and dislikesof a few top officers: Jﬂﬂﬂﬂt@ governance are
difficult to quantify in short range, Rl S e
? .__‘_:_

Accuuntingjugg]m-}}md hoviera e
financial credibility. True financial p gt
confidence. TR

The unethical policies or mismanage
corporale governance principles, C orporate
or CEQs. Itimproves investor confid o

The occurrence of frauds and mism
system can remove ffﬂu'iulentpr ¥
long winded or time consuming or -5-
damage to a company. . s

o ins but they
o mtmgauﬂ - eYarenot long term policies for
openms ﬂxe_gnvemame Policies give investor s

5 Itisalso agreed thatnt

- Th 4
ﬁhﬂ? i aore

.
i - =

H
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2 A W97 146 9

ﬂwmﬁﬁmﬁgm%:

gﬂmﬁmﬁﬁﬁﬂm% '%q,m >
4@ ﬁfﬁﬁwan%%ﬁénﬁﬁmﬂﬁ ﬁmﬁ- 1880-1941 R W#t %21 T & fi ¢ iy SR 8 AR STHA
@ ﬁm&&mﬁl” T e fefee fayg o, Zraardl ) §8 @1 1 &1

et il e T R
. T TA HHRCT # s AR 8 b ; 2
;;F‘Idam st et W 171 wferenfviad] 1 qemn 6 afend ey wer i & | Hieasn
ﬁﬁlﬂm : t‘mwﬁi- T S SeRvdl ¥ W Wi S AT SEEvdl H i
v el T TN E | 2 g S 52 i, e e e v e 5 3P 9 foed
qmmﬁm%mﬁm $ VB WA 37, T 3 qeE s & w5, Hies At

o7 e ot Foed T, 3 T i e - PR AT ferr 7 O v e €
8 ot P 1 ﬁﬂmwﬁ“mmaﬂhmmmilﬁmﬂ?wmm
Wﬁmﬁaﬁmumz%m@%mwmfm—ﬁﬁmhﬁmh T faam-Fdvl % TR WRAE
e AT T T R Y ey 1 # 1 Timem A1 Afrard F7 e aw fv 7 e W E | 30
-ﬁmﬁﬁﬁ'qﬁﬁaﬁmﬁ?ﬂﬁ'ﬂzg 8 e 8 st et 2013 6 e s A wE B A
=) ﬁﬁﬁfﬁﬁﬁmﬁiﬁiﬁw : mm@#mﬁmmaﬁ&mmﬁﬁwmmﬁwmﬁ
g ’wﬁﬁ'ﬁlmgm—mﬁwﬁmv%uﬁmmmmwm@m%
s ] 1 76 e T R BRI Wl et g et 2 1

RN T ST T & o wiemm et 3 st antas et sl 1 e e e v,
e A G, IS FIAITF S e v &) sl 3 wiea - siogom & Foag 95d) it gefel
I T T TATR T6A1 © ST T ¥, Rel dfort  dumanm wensil ) weerd 0t A fafore= e 1 fwifa F501
a ot faFan 21 4P

146. What is the consequence for cfaélﬂ:ﬁes that fail to meet CSR spending requirements as per the_ new
amendment ?
(1)  They face no repercussiun!:f}
M) They must provide reason{fq‘_!;hnir failure

3)  The companies operations ma¥ be closed for a specific period
q e profil:ﬁ to government-run funds

Jf:h.Ti"‘**';‘”eq““’gﬁdq‘:;‘g;Wﬁﬁwwﬁmmmwﬁw 1 o A g T
1) 3% w e o 7 e 5 ¢
@ ﬁaﬁﬁw%mwﬁmﬁﬁl "
8 e fufoee o 3 iR e S S
ettt Fe A & )

O TR i A A

- hoint En@hﬁsi.zed. bylﬂﬂlﬂh GharlesStamp‘squnm 2
. According to the passage, what is the mat” E;-.ceg of neglecting their l‘e-‘ilﬂﬂmfbiﬁhﬁ

) Companies cannet avoid ﬁc (t corporate §OVernance

2) Com i : ompanj"ﬁ brand.
panies must be ca : onat :
(3) Socinl gos s P’ct ilities are immediate.
ponsibility has o
(t The consegquences of dod: gﬂ[ﬁa 7 farg WA _ L

35 g, ifran < R ol @ 7 T S EL
0) S s sereaifae O e N AL
e hﬁﬁm‘raﬂrﬁzﬁmﬂﬁgmﬁim
O s et 0 € ¢
Y St A
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i i t specifyi : .
133. “If a partnership formed to carry ona bﬁnliilse‘:}ﬂi’% of time and continues to exjgy .
long as the partners are willing to carry 15 :
(1)  Partnership for fixed term @ Partnership at vy
(3)  Particular Partnership (4  Partnershipforlony erind

e ey Tt T o Fel et e 3 T O Wy s <y o 78 TG 1 35f
sifere 1 e &' TR hE T
() P sty ¥ fau e ()  FE=T WE

¢ e aEeh @) ety ¥ form wmeg

134. What is not included in Demand and quantity demanded ?
/U.) Tastes and desires of consumer for a commodity.
(2)  Expenses of the consumer.
(é) The price of related goods.
(49)  Substitutes or complements.

T #R HiT T e o e g w86 22
(1) Tt T 3 fom suvima # sfefa sin smand
(2) ITviEn F @d

(3) wefed == =1 g
@ o o o 7w

135. Arrange the following international organisaﬁong-tﬁec;}rding to their year of formation from earlier to latest.
A General Agreement on Tariff and Trade (GATI“,I oy
B.  World Trade Organisation (WTO)
C. United Nations Conference on'Tradeand I
L 2

A4 fom T e 4 el v
1 ABCD it

1a/osfzoz¢£;gm£
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ce mentionegq
tages of corporate g0 i I the passage 7
T T .0 e mz:i:ir:fe iunerations for fiirectnrs and CEOg :
(1) Fl?‘ms;t:gins individual decision making
isio e &in international accounting pracu.ces
% Pmmavinz investor's confidence and relations
}QWTWW mmﬁmﬁﬁﬂ?!
o Wmﬁﬁamaﬁmaﬁmﬁaﬁﬁmm
(2) wEfEmE FOR a1 i EaE
@ FEvw i dad § YR HT

145, What is one of the primary goals of introducing corporate governance in a company ?

A Maximizing short-term gains .
& (2)  Bringing order and method to decision making

(3) Window dressing of financial statements

(4)  Implementing [FRS in accounting system

et e & Tt ST OF 70 F A Tel A R E

(1)  sremafy el 1 s FT

(@) Facta fifm 1 wrafiera i fafim w7

(@) oy ol & Tl witEw

4) @A Fure § [FRS 1 fFaraad w1
Read the following passage carefully and answer question No. 146 to 150.

It is rightly said that “Itis easy to dodge our responsibilities, but we cannot dodge the consequences of dodgir,g
our responsibilities.” - Josiah Charles Stamp, 1880-1941, former director of the Bank of England. In this modern digitalized
world, businesses are required to be mindful both in terms of what they are ql_uing_ E_md how they are doing it. T]g
company's brand is not just dependent on the quality of products they are offering to people but on the overall impactt
the company’s operations on the society, environment and the economy.

Their sense of Social responsibility provides them with a EEE“E@W edge over their competitors in a crowds
marketplace. CSR is a holistic and integrated management concept whereby companies integrate their Social o
environmental objectives with their business objectives. It works ona Triple Bottom Line Approach, i.e. Compan!
focuses on 3P's; People, Planet & Profit while addressing all the expeqhaﬁonlalt? stakeholders. The majority of poli
initiatives in the cOmnEry are driven by the objectives of equal opportunities, MNMiZing poverty and human deprivati®
focus on fundamental rights, etc. thereby leading th Strang an developm 4

The choices that we make today will be goi ¢ex s o 3 influence our future generations, Despite all t
ineqs.laality and disparil:}:' still exists, M.Yeu,thehﬂimgs foat W i3 Wﬁdmtﬁk guidelines, These guideli"®
require Indian companies to spend 2 percent of their net Indiais the first country in the world to make C!

tstep of engaging the corporate sector in ¥
spend 2 percent of profits towards CSR and”
esent amen companies are required”
d tatumwer this amount of profits i L

mandatory. Including the CSR mandate o
equitable development of the country, '
case of failure to do so; they were umed Tt
: m i~ J

spend 2 percent of profits mwﬂrdr:ESR e ﬂ!gl;im 0x
The new amendment wil] : e

the specified part of their profits lﬂwardslu eall&;e

attempt to study Issues and
practices in Indian Cﬂmm associated

provisions under CSR guidelines to qP"’:
thout faling, Researchers have med

Y
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148. According to the passage: what is the significance of a company’g Socia] bty in them odern digitalizeg

- world? :
(1)  Ithas noimpacton the company’s bran

—@— Qualityofa product have not Yala
(3)  Itprovidesa competitive edgeina crowded market place

(4)  Itleads to wealth maximization -
W%WWWWﬁM?W%HWW%?
e 3 e T T FE WA T A el L

Be

(M
(®) fwﬁmaﬁmm?ﬁﬁaﬁﬁﬁau@qﬁa,
3 ﬁwﬂsﬁwwﬁuﬁwﬁmuﬁ%ﬁmm

() o T R A T e

e
149. What did the Indian Government implement Wiﬂ'ttl‘é'gﬁlirds to CSR ?
45— Mandatory 2% spending of net profiton CSR
(2)  Voluntary CSR guidelines
(3)  Taxincentives for CSR activities
(4)  Nospecific CS5R requirements
CSR % st § IS TR A F= FEa e ?
(1)  frae = 2% T SfEE w9 d HeEs W e, ad

e —

() wfees drmem fem-fEw pr

@)  Hiuger TafafiE & fog w2 dere LO
@) = fafires Sogem sTavFa TE

-

"
150. What is “Triple Bottom Line Approach” in CSR ? :;;‘)
(1) A focus on customer satisfaction, revenue a@, ofit
(2) A focuson people, planet, and profit i
(3) A focus onshareholder interests, environment sustainabi
(4)  Afocus on people, planet and plant
it # fieh s Y e w2

iityand innovation

18/06/2024 13:8

(3 Scanned with OKEN Scanner



st - 1 with List - II.

 wacht Do
¥ Us{-l [Melhﬂ‘iS ol ris analm)
gensitivity Analysis List-yy (Meaning)
: z gmmp"mf generates a very large number of scenarious according
§ geenario Analysis LY the Probability distribution of variable.

I\J Provide 5 way to present different possibilities so that we can be

gimulation Analysis - Sure that decision we make today.

J Anal?sing the projects NPV (Or IRR) for a given change one variable
5 Decision Tree Analysis . atatime,

Ry Analysing the project NPV (IRR) for a given change in combination

@-ﬁmuqﬁ- = fqanw: (}_;:)‘Ofvariab!e.

et - 1 (S faversor =t ffy) 1 )
A ﬁ&m ﬁ?ﬁ'ﬂ"ﬂ 1 s ; 4 e rs
*ﬁm%mm%ma@mﬁwﬁmmm
FTAE
b e feraem 0L fafy et wege o1 =1 fifs war e & s o P & o9
{mﬁmﬁu‘mﬁmmnﬁa '
C e favemm ) it o1 2 foedt = wfiemeft 3 fom wftdiomn NPV (1 IRR) 31
ujﬁ%ﬂwm s
D Ffg ga favemm IV i 35 g e 3 fer afEio e NPV (1IRR ) 61 e s
thoose the correct answer from the enbelow :
T o e 4 4wt e 9 A
() ALBILC-m, Dav @  AIV,BILCL DI
O AmLBIV,CI DI #)  AMLBIV,CLDI

=3

' Which o of the following is true with tﬂ?ﬂ L e et

S ggrﬁﬂw; P
[,,} Liquidity is higherina e ach
; _ T0

] thtability is higher in i

3 - i
} L“lll:dﬂy is lower in mathG?PMh

Profi goch
Dﬁtability 1s higherina
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9.

ial Enterprises, dividmd

Fmﬂﬂfl
"m“”mz::eiaung activities We Showing which one of the following activities of Cash Flow
:1) [nvesting activities (2) Financing activities
o el H, €29 AN 6T mﬁh’(ﬂ( 4)  Operating and Financing activities both
) e e W Frfirfea & & Fi-m framem <o @ €2
: v e (2)  fadftm fpamram

& @) v i faeras faarmer a1

The Channels/ Levels of d:l.stl'lbutmn are. n
\  Direct marketing channel or :

ﬁ_ Dual-level c_hannel_or SmEIE-Iwe el Channel
¢ Exclusive distribution nel
D. Reverse flow channel &
£ Selective distribution L
Choose the correct answer from ﬂ-leophom giver below :
1) ABandC () CDandE 3) ABandD (4) B,DandE
A AT
A e T S 9 - e
B Tz HE A1 U T e
¢ A faam
. faeim waR = Q)
E S5 e N
wﬁqwﬁmﬁﬂnﬁwﬂmm b
1 ABIRC @) CDHE ~iB) A B3RD 4 B,D3IME
Match List - I with List - IL. Ca List-1II
List -1 R Propounder/Author
Name of Theories L Michael Porter
A Theory of comparative Advantage L David Ricardo
B Theory of competitive Advantge M AdamSmith
L. ThePurchasing Power Parity IV. Gustav Cassel
D Theory of Absolute Advantage ' _
T - 15 e gft - 11 1 A TS Teft-1 %
-1 00 wfaaes / o
frgfa " POL FEEE R
A o e = fasid (on R feret
b st e fasi ~Jm AR
w1 v e fagia SRS DA L
Eh T = = g e git@ﬁa”l"“”
00se the m the -
:ﬁafa—qmcorrect answer fro ﬂﬁﬁﬁ AL B, CIV, DI
0 Toeresil 9 | i I 5 AILBLCILDIV
m ALBILCIV,DI ‘ |
‘LB, C-1v, D-11 29 i oos

Vet
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I_j:-lr I [ “’lth List- ll

}u{affh 1
g8 List-
Theories of Motivation L
Need Hierarchy Theory P:: -1l
i ERG. Theory L mii‘{;“‘;
psychoanalytic Theory 1 igmundeﬁ-er .
.
‘Two-Factor Theory 1]% Abraham H. Maslow
qﬂ"f ﬁmfﬂfﬁ 1L e I% hﬁdm;Herzbug
mﬁlﬁm%ﬁmm Wm'
e A g Y “H"‘“ﬁ_ 3
p  dams. fagia y T
¢ A ol n
: : e U=, OEE
EALE AEFAL
X B V.  Srefis gt

Choose the correct answer from the Options
ﬁﬁmwﬁﬁﬁﬁﬁvﬁmww E‘Vt‘:nbelcm :

1) AILBLCIILDIV %] A BLCI DIV
; . I, C- 1

11, BIL, C-I, DIV ] A-IV, B1C11, DIl

[‘3} A . Il' g (41 i l I’ _]-I‘ E

i Non-collusive oligopoly models include :

A Coumotmodel B. - Price-leadership model
C  Edgeworth model D Nedrtrand model
E.  Marketshare model o

Choose the most ap propriate answer from the options given below :

() ABandConly (2) CDandEonly (3) A,CandDonly (4) B, DandEonly
- sreaifierT Higel | wfefd ¢ : |

A FiTHE HEd B. - HiEd

¢ wmd At D. ~W&E HiEA

E 99K fewder dige

13 i 0 Ferel ) ey e S 1 T I _
() FaaA,BIMC (2 Fa@CDAE () #9AA,CHID  (4) Fa@B,DWE

o t used in foreign trade ?
. Which of the following is substantivé doc “me;;}ﬁse Cﬁ.ﬁ?ﬁcﬂi of origin
1) Commercial invoice (4) ¢ Ingpection certificate
B Billof exchange A 27
%ﬁaﬂwmmmﬂ }#Wmm_ﬁ
) =foferms des Pffrwm
® -
i is set ._'.piﬂllder the Provident Fund Act 1925 7
Which one of the following mejentf und @ L Racognised Provident Fund
M Stapy tory Provident il (4) _ Public Provident Fund
9 Unrecognised Provident F@d g @ - e P wenfvm o &2
s st 1025 % sfaf@l () AP T
Y e e e
¥ Al 27 008
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18,

s,

, Malt

p List - 1 Wi Last=an,
List-1
|nstitution
Industrial Finance

A Corporation of India (IFCYy . r;{-’:; of establishment
B Industrial Development Bﬂnk =
of India (IDBI) o G
P Industrial Cl‘t.‘t‘iit ].n\vesmm
Corporation of India UCICI) L 1955
p. IndiaIntrastructure Finange
Company Limited (ITFCL) V. 1948

@.lﬁﬁmﬂl‘qﬁt—llmfﬂm%:
et -1

He eI

o _ TTGHT &1 Y
A SRS Pror P L2006
B R SERFT Fore e gy I 1964
c wram s s ﬁﬂﬂfvﬂmﬂmm M 1955 —f_-i'. iy __L_-_‘_[_“
D i sEEE fad S e mecy) v 1048 [ 7]
Choose the correct answer from the options given below : ( L = [ARC q
e famedl ® | WE IT H WA HAC : —
W ﬁaﬁ'.mn.t‘-m, 11:1@ @  AJAV,B-LCIL DN (A= 2 ANC/

B AL BIL C-L DAV @  AGLBLCIV, DA @

hi - P ‘ment tocontractor if the recipient is an individual ?
Which one of the following is rate of TDS on payme

; ] 2 '

et 3 - S R gEAR IS A TR TS

i“ 1“ l-‘] 2& l3) 1 0 {. il
m.m'al Accounting.

Arrange in proper sequence the Swd B [&Eﬁ%ﬁmﬁun and measures of financial transaction

A Summarisation D. Recording

C Classification

-E— Interpretation of result ﬂ'm o %

A S o W SR W e SR (e S e

A WR-wiriE D I

C oo

£ gftom it =wen wwm‘*’“’ﬁ‘j

k}h“"‘&" the correct answer from ﬂ@«

A S;ﬁ;l’a,n.c.mﬁ @ B.DACE
~J

TR Ty fae 8 9 W@ SO AF

) CBAED @ S ofad@?WMM.m&m:m:-
fhe bailment of goodSasﬁ@C“' : & ﬂ!@ﬂm".wumﬁ;

I ‘B'c‘lilment (2) : (3) m‘ ) w -
T 2 - et 3 9 ._

i o o " :
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106,

107,

108,

109,

110.

[n which type of insurance should insurable interest be

: atthe s LY e takun?
(Iy  Life Insurance only (2)  Fire hlﬂl:xrqhm when policy ¥
ine Insurance only (4)  Lifeand My Y
(3) Mari I oty 5 ) Marine
e T 35 v A e 7 o i e 7 2 B g e only
(1) e wiE A (@) T A
(3 e wfe A (4) e R s ey
Which of the following is/ are the methods of calculation of !"&ise A
A Lump-sum payment method B.  Netasse ww““hm x
(. Total payment method D.  Netrealization
I, SWAT rate method L ethod
Choose the correct answer from the options given below ~J
() A, B,Conly (2) B, C Donly () ADEony ;
B g 5 y 4 A, B,C, Eonly
frvfefaa § @ fm- 79 9fawa F Fom w1 A g7 ) @
A EEYE v faf B. Fam e fay
¢ %o e fafa D. = W fafy
B SWAP e fafy
H19 feu wu fawad| § 7 " =9 1 999 FIf90
(1) #FadA,B,C (2) FFEB,C,D (3) FETADE () FI9AB,CE
Bank overdraft payable on demand should be treated as cash and cash equivalent according to which one of the
following Accounting Standard ? Y
(1) AS-3(Revised) (2 Ind-AS-7 G Ihf:,as-lm (4 Ind-AS-18
frvafefaa # | frm ot arerz & mmqhhﬁ@ﬁm#mmmmaﬁq?
(1) AS-3(HWf@) () Ind-AS-7 ) Eg“ijas-lm ) Ind-AS-18
Which of the following is probability sampling ? )|

A Simple randomsampling B.  Clustered sanq:kgg C  Quotasampling

D.  Stratified sampling E.  Snowball samp@

Choose the correct answer from the options given below:

() ABCGEonly () ACD,Eonly (3) ABDonly #  B.C.Donly
freaferfiaa # | -5 Wrwm vy 22

A G Al Y B.  HyEd wfaee . Fra e

D. e sy E fomdgs (i) w0

1 few e faed A 7 = i

() ¥FEABCE (9 FmmacpE @ =@ABD @ Ssscp

When both Average Revenye (AR)and 4 »¥re jn straight line e |
distance between AR curve gngq Y-)axis mmw Pe. MR curve will cut the

(1)  Middle @
ﬁm;";;:;}fwm R wﬁ*ﬁmw .
W (MR) 1 < v e

() wAH @ s
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92.

93.

wing s pwperﬁes of standard deviation ()7

e & ) -0 T (o (o) 3 O &2

Which of the follo
B. o,~K=g,-K .
4 Ux+K={rx x K x ¢ tr,‘-:l(=PKi
D. GEKK=KUP( E I-ffxx .d-ﬂ'xbe]'
Choose the correctanswer from the options given below
W Ambay @ SRBy BN C,DEQ @ B,C Eonly
) ;

A UK+K=G'x B. 0!—K=03—K c‘\'ux+[(=—al
O =

D. o, xK=Ko, E. U','-KK=D'X '1-_

3 T Fared] & WA IO H A FC %

@) ¥w@ABC (@ ¥WACDE () ¥WACD (4 FEBCE

Who has given a new school of thought known as the ‘Principles of Management’ or the ‘Management Proce
School’ ? :

()  Mary Parker Follett (2)  Hanri Fayol (3)  Luther Gulick (4)  Peter Drucker
T ‘wEvA % Tagia’ 1 ' wavE wEa s’ & 9 | w9t U A6 e v ver 18 ?
(1) B o ERE @ &0 wE @ I (@) HEEER
Match List - I with List - I1 r\:}
a ist - | with List - 11, "
List-1 List - 11 UJI
Contents/Provisions Dismsiunfpmviniu;ii‘thapfm
under the Central Goods : (&)
& Services Tax Act, 2017 (,}.\'
A Levy and collection of Tax L Chapter-VI ;
C  Input Tax credit e Cﬁap!ﬂ‘_*'x s
D.  Paymentof Tax IV. Cha pﬁ.‘-‘l"v J :.. 3

AILB-L G, Dy
(@) AILBOCly, D
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; orking capital of a

)
4
inventory ? Rs. 10,00,000 (3)

99.

100.

101.

company is Rs. 6,00,000 current ratip jg 25.

i liquid ratio=1.5:1- What is the value of

(1) Rs.600000 (2 400000 4 Re 200000
it et i i o 6,00,000 THLE WWZ‘S:“&WW:,S.I%. - e PR

(1)  6,00,000F9C ()  10,00,000 TY 3 400,009 L (4) 2,00,000 FTC

In which year the General Agreementon Tariffs and Trade (G ATT) s -
(1)  October 1947 ()  November14d  (3) - January 1995 m July 1991
i o e s s Feft T TR () T oy g gy

el

(1) FRaT1947 () TEA1964 @) gy ) w1991

A committee was set-up in 1993 under the chairmanship of R'N;.Mialhqrra to evaluate which one of the
following ? )

(1)  Banking Industry (2)  Small-Scale Industry
(3)  Mutual Fund Industry (4)  Insurance Indusry
freferfas # & fege qeaFs w7 F (610 1993 F A, TR0 3} arvgen & 7wty zenfa o1 7 ot 2
(1) AfEn F=m (2) T
(3) TEIEwIE . (4) == IEm
Match List - I with List - I1.
List-1 List-I1
Term Meaning e
A, Income effect L A table showing the different total quantities of a good that
consumers are willing and able to buy at various prices over a
given period of time. |
B. Substitution effect IL A table showing the different quantities of a good that a person is
willing and able to buy ata given period of time,
. Demand Schedule for L The effect of a changesinprice on quantity demanded an individual
arising from the consumer switching to or from alternative products.
D.  Market demand schedule IV.  The effect of change N price on quantity demanded arising from

the consumer becoming better or worse off as a result of price change.

[T - 1% T G - 11 =51 e =5fem

-1 gt -1
= o 1 fafv= ommd
A FHANE L feran =it fal 9. el % 518 39 fe
:ﬂmﬁﬁaﬂﬂiﬁfmﬁﬂﬂﬁmﬁ
B.  WidearsH v L Emﬁ,ﬁmaﬁﬁﬁ:ﬁmmﬂmﬁaﬁa
gt e # o WL

c fFEmRTmaEmh mmwwa‘ﬁ?m~mﬁmmwaﬂ

D S . qﬁqﬁaﬁaﬂmﬂ"'ﬁﬁ Hfm“mmﬁama:m
i : m@ﬂrﬂmﬁw i

Choose the correct answer from the gptions given below : |

13 faw T FAFE A A W 3 3y e i -

(1) Al B-1I, C-I11, D-IV 2) AV, BILL )

9 AL BV, C1, D1 ‘ 4 AILB

30 - ro8
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116.

117.

118.

119.

120.

i i hes are charting the Career p, o
Which of the following approac aths o Tl Bt s
A The Traditional Approach B.  Career Pag, i developed by Roth AZATy

: ork Approach D Carces PProach
&mﬁﬁiﬂeﬁe;:sﬁir ffc?m the options given below : Goa] Appro, P
(1) ABConly (9 A,C Donly ® BcCp o S
frefafaa 3 8 FH-4 3T 1999 mmwwﬁ%%;ﬁﬁaﬁﬁ%?
A TG S9H B Hfm ey
C  wife" 91 HEe S9rH D. TR R

%3 fau o fasedi § 9 WA I F 947 F90 £ )
(1) FadA,B,C 2 =H99A,CD (3) ﬁﬁﬂ.ﬂ,]‘) (4) A, BCD

The balance of securities premium account cannot be uhleedfw which one of the following ?

s ; , = T
b e @) petingofdcounon e debentar
wfefa iftrerm e % v %1 Fretfortad § § 50 o ST = fag o e 22

(1) AEAHR AFE HIeET 2) 0T TR Wit e sy

(3) i e @) @ o

Arrange the marketing Logistics decisions in proper sequence begi:rmjng from start to end.

A, Order processing B. Inventory

C. Warehousing D.  Transportation

Choose the most appropriate answer from the options givenbelow -
(1)  A,B,CandD 2 A,C,BandD (3) A/B.DandC 4 CA,BandD
favr etz fofdi 1 Y@ens & 3ia 7% @ %0 & sgafeaday ;
A AR HEfYE B. - A )
C  WIETRY IR AT D, WREE
A few m fawedi F & wad sugem s wA w it L)
(1) ABC3RD () ACBaRD 3) ABDIC @ CAB3RD

Who held that both demand and supply were equally important in determining the price of the product?

(1) Pigou (2)  Robbins (3) Keynes (4)  Marshall
ﬁﬂ%mmﬁ#m%wﬁmﬁqﬁ 3 mﬁmmﬁw%?
(1 @ @ = S

Which of the following tr. i ; ing activities in cash :
e § transactions are shown as investing activi flow statement by finan
A, Cashproceed from sale of f; assets entof loan taken

C.  Debenture purchased s g dvanced

E. Purchase of patent ¥ 2

Choose the correct answer from the options given below :

N
(1) A B, C only (2) ACE 0]11}’ )] ﬁﬁmﬂy 4 B, D, E
FREls 3 178 3 fha sl gy s s ot 0 T 3 oy e o
A T SR 3 ) e e g fagdeE FIEE
c. %4 T oy : D Zmam

E TEwER
18 LT 888 5 1 i
(1) FacA,B.C ) a‘_qﬁA,G,]?
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113,

Iy,

card is drawn from a pack of !

=3
%qﬁ a; @W% il Whahs the PTObabll.Il‘y ufdrawmg a k|ng or red card ?
1 o ST R o vy et o ) e 7 7
M 9 ‘-ﬁ. : 1? ?__
(3) 2% (4) 13

which of the following i1s/are

A Seven Or more persons,

5 Twoormore persons, where
¢ One person, where the

fon‘naﬁﬁﬂ ofa company under section 3 of the cumpanies Act, 20137
“Ompany formed is to be a public company.
Ny is to be formed to be a private company.

D Five or more péersons, W}H&ﬁe tobe fUl'mEd is [0 be one person company.

Choose the correct answer from the

(1 A, Bonly (2) Bg:l;mgwenb!!:;;v D
Fo arfufam 2013#1qm3a;wqmm ,B, Conly

C U A, S 9 T el w9, v it 2

D. ¥ A v =afem, el o8 99 A s vE et S
4 fau o fawedi & S Ad SWATE ST

() *aciA,B (2) #ddB,C

(3) FFAA,B,C

The most popular forms of advertising does not include ;

() Informational appeals (2)
() Print advertising )
T 3 e wefera e & g &7

I g @
B fie fae &

ompany formed is to be a public company.

(49) FEABCD

Television advertising /é ‘\_,
Online advertising
46
#E e i

%

“mhlteﬁdvanﬁﬁe in his book "“‘1“'] mtoﬁuNahne.musaofﬂ\e
Who has propounded the * Md 9
“ealth of Nations’ ? 5 W n.@ A.C.Pigou (4)  David Recardo
;;;q Alfred Marshall ~ (2) “ﬂ&a 5 e S T o 1 g (heory of Absolute
" T e T TR ) ~J
dVantage) fiurfe faan 12 ,.;#*"., (@ T @) s e
0 e ol &0 EQuT
- What is thevalue of degree of Operating leverage ? & &r
T 1120, PR = 320, Fixed @y Waﬂﬁizmmmw‘? 3 uﬁw G lles l"m'
EBIT = 1y 20, PBT = 320, 7 il o P :

.{)’v 35 @

33
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123.

124.

125,

The concept of product life cycle is based on few key assumption T

A, Products have a limited life
B, Productsales pass through distinctstages, each passing differen; challenges: opportunities and probje,

to the seller.
C. Itoccupies most desirable position in consumer’s mind ing the prand almost impregnable.

D.  Iterects outposts to protecta weak frontor supporta pﬂ%"b‘ ’ fﬁunterattack
E. Profits rise and fall at different stages of the cycle. }

Choose the correct answer from the options given below : Ol
(1) A,BandDonly (2) B, CandDonly @) G D“““‘iEonl}r @ A, Band E only

maﬁmaﬁaﬂwwwﬁmmmmﬁﬂ%lag

A IEE = Hifa e g

B. mﬁaﬁﬁﬁmﬂﬁﬂaﬁﬁ%mﬁﬁﬁﬁ&fwmﬁmaﬂuﬂwﬁﬁuﬁﬁﬁ%:
c wm&ﬁm#ﬁqﬂﬁwﬂmﬁhfmﬁwm%ﬁmﬁwmﬂaﬂéﬁﬂl

D. e U e e e A e s wf She i gee & d @ #)

E  o% & fafe= <ol § &Y @wa ot s v

= fau o fawedi # | |@& I & 99 Fifaw

() FA@ABIAD () HAWB,CIRD () Fa@CDIRE (4) FAAA,BINE

h‘-‘y are !

Which of the following exemption or deduction will not be availab‘lé if assessee opt to be taxed under section 11
BAC for assessment year 2024-25 ?

A, House Rent Allowance, B. Leave Tra#gl Eﬂmessmn

C  Standard deduction. D. Taxon Enqglc—yment

E. Interest on loan taken for self-occupied house property.

Choose the correct answer from the options given below :

(1) A CD,Eonly (2)  A,B,Conly 3 A, B,QAE only (4) B,C,D,Eonly

A% ien 3 2024-25 % 2 Fuifea wm 115 BAC & siarta S #1021 e 2 wfaeprt 51 w0 w0 3
frefafea § 4 F9-41 g2 21 20t 3vems 721 22

A FEE fEmE e B. 3G ARG
C T et D, SRTH
5 o P ST T R g, o g g =
‘ﬁ%ﬁ'{ﬂqfﬂaﬁfﬁﬁuﬁmmw @n

(1) %99 A,C,D,E 2 ﬂﬁGA,B.t;«\

Arrange the steps of selection proc .
ocess from b
A.  Selection Test ¥ =

C. Physical Examination

& Approvalby appropriate authori
T S 5 i e @Ff:":rw y
£) 1 e =

C i wieg

E o0 wivm
ﬁﬁqmﬁwm@. .
| 18/06/2024 1388!
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52

P
%g ‘" {(1

waent which is enforcealy
Gpr ut b -h‘l led s by layy at ; ion of th
ors” i cilled © the aption of one or more of the parties but not at the option of the

OMMERCE)

“AN AR

ALY l,"‘h
ol “\'niui contract [.1.]- V“Hd

( ; mnh'ltt - [legal contract
L o U M st qﬁmﬁ (3)  Voidable contract (4) ega
ﬁ?ﬁ it Mmmmwmgﬁrﬁmmm%ﬁmmmﬁﬂﬂﬂ

v @ ¥y ;
NS W @) g EEe (4) ari sfafis dfeam

i T : A hﬂ
v Gystom where two or mor “kini ) e . .
:;I;‘ Chain Banking (2 Groy SOMpanies are controlled by one or two individuals is called :

P Banky i i 4)  Bunch Bankin

qorelt, et @ arfere i & (3  MixedBanking (4) Bu g
ek AT Q) YO ) % wiferdf gra P SR € e €
Arrange the phases of capital expendityrg tbabd o
I,\_ﬂ }':?\'.!lu ation of the net benefits / Investment planning and control from beginning toend.
B ldentification of l‘m‘-:s'lmunt OpPortunit
C lht\‘ph‘l}"ﬂ'l'l.l.‘l"lt of forecasts nfbeneﬁ.h mh':'st.laﬁls
D, Authorization tor progressing and Spending t:nPitn'[ expenditure.

E  Control of capital Projects,

st o vt S 1 65 SO 8 g s e e 9
A frm el & A

. o srawd & 9EEH

c =i &l wrE F gEtE w5
D, oo = EE H SR i gie & fan wiven e st
£ go wfrsme @ faEam

Choose the correct answer from the options given below :

A9 fa u freedl o Q Wl I 1 W wi _

M ACDEB (2 BGCADE @,." AB,CDE 4 B,ADCE
Which is not a key element of consumer psychology and pricing ?

(1) Reference price (2)  Price indifference band

(3)  Image pricing (4)  Pricing cues

-3 Sy S i e O W T T E 2

(1 "5y @ 9HH aﬁﬁmﬂ EES

@ foys @ T

_ : irm in last to fi '
Amange the steps in Decision making by @ buﬁnﬁs ?;};::Eg S:Ii‘:itﬁ(:'ricl;e;ﬂﬂj L
A Exploring available alternative D.  Chaosing bestalternative 5
C Determining Objectives '

E _ Assessing consequences of variol ﬁseﬁﬁmﬁuﬁﬁ
ﬁmwwmﬁﬂqm#ﬁﬂm ; ﬁwﬁmmtiwmm
A

ST fywel v famp 0 T H

C 3w Frstieo oy 3 ﬁtﬁkﬂ
£ T faet oot A o
'00se the correct answer from mopw grvﬂl"

Eq’fifaﬁﬂ’fﬂﬁw“ qqﬁ‘:"ﬂ‘ ‘
ERL : ,A,C.D,
M) ABcCpE @ BA p,CE 3 EACDB @ BDEAC

17 7 008
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59.

—~ A Considers all cash flows.

-

-

- ing financial institutions according to the o R
Arrange the following NER ¢ EXIM Which they were established.
: : 4 )

A N.a.tmﬂﬂm;ﬁ p;}bfm NSRS, Uy D spm Eum
prife o g e ¢ Emdy

N T : L D, fagest E s
.‘L the most appropriate answer from the OpHions given belgy,
Choose the my :
i 3 3§ TR IO I H T HITwT ;
5 ACDBE ) BACH,
@ ECABD @ A 'MCED @ CBDAE
| %
tcarries out its activities notin one central p butrather in multiple locations by suppliers

“ An organisation tha iieede "
' " ' ric alliance or a larger “Sy v
and partner firms as part ot strategic atil ™ PPIY Chaig® i ol

- /A by .
(1) Collateral organisations () Network orgasisgrion

@)  Virtual organisations W Typial matrixorganisation

g e S S Fre R T T R WO 2 Sy vy w, o e @ e em
“;-mqﬁﬁm“?ﬁw#mﬁmﬁmwwmmm%”m%:

(1)  EwOTeEE e () eEE g

@) sl " (4) vl =R Wy

Which one of the following has given the Net Income approach of capital structure ?

(1) Durand (2 Walter (3 Gorden -, @) Modigilani-Miller
ftoriaa § & e § o @ Frae o swm e &2

AV <& @ AR @ ™R @) wifsfrer- e

Which of the following are merits of NI'V method of capital budgeting?

k i
“B. Consider the time value of money,

. Give more weightage to future receipt.

D Satisfies the value additivity principle.

s No relation with the

wealth maximisation principle.

L‘}\L\“e t‘ht‘ correct AnsSwer t—ﬂ] m t—ht. Ul."tll.'ll'l!i gl\'tl"l"l l_l‘il“" .

(1) :\.lB,Cc-nl:.- @ CDEouly @) B, C, Eonly )  A.B,Donly
mﬂﬁﬁm—ﬂﬁﬁa@m {ﬁaﬂ!ﬁqﬁgﬂlﬁ'ﬁ*‘ﬁt?

A mmmmﬁwmg

C R SR = 1 R e v s

D - i ) e e

E b=l | SEAHTH ﬁ]:f'ﬂ%ﬁ.g ik

¢ Ty T

(1) FITA,B,C @ ¥mmcp g ‘ P

=V€SLEC8

(4) FEEA,B,D

008
18
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63.

64.

65.

Match List - I with List - II
List-1
A Finance lease

List-1I

L The lessor transfers, mb‘t'hhgu
the ownership of the assey & the Y all the risk and rewards incidenty] to

. I The lease under which 4
B. Operating lease o a given e les!im- mvmf’ acquires the assets that are leased
m  Thelessee sell an asset fo,
C.  Saleand lease back : FCash to Prospective lessor.
D. ~ Silectlesse Iv. The lessor does not tr

ownership of the assets, ansfer aj) the risk and rewards incidental
et - 1 3 e gt - 11 fiver H

-1 b 3
A fwdm L i S % e { i
O 2 Tl wt SifEm 3k e weeEg w @
B.  WHwEA w L O i o oo e, fie o a2 o
Phlihgn i T E 7 sl w
C FsRTnEN W e, Wl o e e § s o w
D. YoH e v, m?mmmﬁ%m#mwwmmmﬁam
AT
Choose the correct answer from the options given below :
= e e foreed 2wl o v W
(ﬂ} A-LBIV,CIL, DI @)  A-IV,BLCILDI
A-LB-I, G-I, DIV (4 AJLBIILCIV,DI
Eerie;r:vlzis:d s:ctmns of the Central Goods and Services Tax Act, 2017, the provisions of Input Tax Credit has

(1)  Section 12 to Section 15

jon 21
o) 0n 22 10 Section 3 (2)  Section 16 to Section

(4)  Section 31 to Section34

= 3T 3 s, 2017 %} g st sfenta s @ HIEE 1 STEY T 2
() =123 umgs ' :

(@) wm22dwmy Cﬁ(;; tlmm':m,u:

Hr31 9 9l
Who has defined E¢
Scarce means Which?lnlu’:l:?hlr:‘:::ﬂe’m w‘ studies human wbm' as a relationship between ends and
1 Marshall
mmﬂmtr,*mﬂmﬁmﬁ m%w s "t'ﬂf#*“ﬁwmﬂ[ﬂ
(1) W ' JoE S 1 I
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nwhich book Alfred Marshall hag

i 1 Money, Creditand C“mmerm ) first time used the term/word “Terms of Trade” ?
@ The Economics of Industry ) Principles of Economies
mgﬂﬁmmﬂaﬁmm @)  OnRent
st VR i e
0 e s 3E ST 2) fiifgueg sife st

4) &=

_ Assumptions of the law of diminig; _
& g i Marginal utility includes
A Rationality

; e B, Suitable units
¢ Cardinal utility
; D. Commodity satisfying different wants
E Introspection '

Choose the correct answer from the gpg: .
Plions ow

(]] A, Band C only (2) B,Cand D only (3)~A.CandEonly (4) C DandEonly
Wmm*mﬁmmﬁmt -

A T B avgw

C I D T v ) w6 A
£ st

4 fau u fedi 8§ & Wl I W W A

() FaAABIRC () FA@BCIMD (3 HAAACHRE (4) ~Faw@C, D3NE

62.  Which of the following is/ are the principles of General Agreement on Tariff and Trade (GATT) ?
A Trade without discrimination. B.  Protectiononly through Tariffs.
C. Stable Trade. D. Consultation.
E  Unfair distribution of wealth
Choose the correct answer from the options
) ABCEonly (2 ABGDPOWY ® BCDEony (4) ACD,Eonly

given below :

" - RLiLE] \..J
D.

C  fer=mr

U
E e o srfa, - o 0 D
T i g fereedi & A AT e
) %:; j saardC? © FWBCDE () ¥WACDE

ABCE (2
Y 2 008
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76.

» S

(atch List-1% ith List - I1
il <
N st -1
ind As List.yy
,  IndAs- 1 i Relateg
B [nd As-2 I enue
C. [nd AS- 1ﬁ ik tty plantand equipment
p. Ind As - I“"“"'fﬂrks
ﬁ 13 94 1131 11 =1 o= %'I Presentation of Financial statement
1
Ejas E i
A In(i As - 1 I m
H‘- Ind 1‘15 = 2 H. m .H'q‘a, m
(i Iﬁd As- 16 I, W
p. IndAs-18 V. forfrg oo =7 wefe

oose the correct answer from the options given below :

Ch
3 fer e Farpedt H & HE SHCH T o -
1) ALBILCILDIV ALV, BIL, G-I, D1
@ AILBIV, C-1, D-1 (4) Alv,BI,CLD-
make the product

A pd.l'l.‘hl.l]df combination of product, its price, the methods of promoting it and the ways to

(4)  Market segmentation

available to customer is:

(1) Market (2)  Marketing (3) Marketing mix nta

e fapgry 7w foras 3615, <! T, 9 AR ] A mmmmrmwmxwﬁaﬁﬁ&:ﬁrmmm

%

(1) e @ faum @ Foaur AT @ FER e/ @UEET
bank is :

i : hed thER'ﬂ]'_h]rﬁmhrlha new-small financial
The g mm cApU2. presc s ;;Y 200 crore Rs. 10crore (4)  Rs. 1000 crore

(1) Rs.100crore )
@?ﬁ?aﬁmﬁﬁmwmﬁmmmﬁﬂﬂw@t%;
(1) 100FEE @) 200 FIE T @ WHFEE @  1000FEE
praisal too often degenerates into a dishonest annual

# performance 2P

Who has stated this
rituals” ? (2) Armstrong and Murlis
(1)  Newton and Findlay (4) Grint
g‘;iﬂ:&rluw " ﬁﬁgqﬁ;mmﬂ]ﬁhTWﬁMﬁTmtl"?
() dﬂ?ﬁF@ﬂW 1+ me
G @ e
@ W t hikhs t ed by ?
consent when itis not caused by ¢
Which of the following is/ are cﬂﬂ"":m;m Undue Influence £ Fraud
A Coercion E Bailment e
D Misrepresentation ' ﬂmﬁsl'*mbﬂ“w
Choose the the OF (4¢) B,C,D,Eonly
oactiy o= S 5,;%““” mm% o e 1 7
et & & #- TH/E g X
A zamE/EE ﬁ il
D, fiye forgor 3
e wedfe FfC
Thmﬁﬁﬁfﬁﬁﬂﬁﬂgﬁ&ﬂ @ ¥EABCD (4 FBCDE
FIAA, B, C (2) 23 —— 008
i 4 '
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66.

b7.

b8,

which of the following assumpy

/.r\. Cost mf dpbtt is less thap, Cuﬁtﬁf&:u?at Income Approach of capital structure 7
; There 15 NO ax, h.
/g Risk perception of i.twgstat
-~ p il
wD. Changemn ‘“dpfta] Sh'uchlmn[ a Mttha“?‘t" by the use of debt.
g  Thebusiness risk will Temajy cﬁmpany does not affect market value of the firm.
(hoose the correct answer from, B tatevery level of debt and equity mix.
(1) A, Bonly Al} b EP% given below :
it e 5 T ST S g umﬁ y (3 A.B,Conly @ GDEonly
% a&iaﬁm.maﬁm%mt R W yerom] ¥ 2
I
B. FIE FT EA
c v *1 S awon e s
et 30 i T R vl @ anit
i ﬁ'“'ﬁa“‘w‘f =i ;"‘ma’" SR o 35 i sy 6 wenfere 7 e R
= T TR = sifem fraa )
aﬁﬁqmﬁmnﬁaﬁmmmw:
(1) WAB @ WD,k @) FEMA,B,C (4) HIEC,D,E
Which of the following are quantitative credit control methads ?
.{k Bank Rate Policy &B. - Open market Operations
C. Rationing of credit D.  Margin requirements
E Variable reserve ratio
Choose the correct answer from the options given below :
) A,B,Conly 2) CD,Eonly Bx A B Eonly ( B,C, Donly
& 3 ) .
ffefas § @ ®9-w1 e are e fafiai #2
A dwEAfa P I S AR
C [ F ah EaE e D. ¥R SR
B fted=eiie sTRef s
13 g g e et 3
0 e & 379G D,E () AT A,B,E (4) HEEB,C,D
. the Companies Act, 2013 in ascending order. |
Arrange the provisions section Wis¢ [ncorporationofcompany € Articles
Al Prospectus B. Wegfpgj:uments
1?- Formation of company B 2 IR sﬂﬂﬁ w0 o SafteE it .
T Hfufrm L, 2013F afeid ‘E‘F‘ﬂ =1 frr c 313%{
A fafr & R
el i Fa G
E. =T 1 i :;'eapmgiyenbéuw:
Roose the correct answer from W‘ﬁm :
9 130 Tu famedi 4 F’@'ﬂmcn‘p,ﬂ _® DGBEA @ ABCDE
# BACDE ) - :
21 , gL (008

A,
Qf &VE
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69. Whatisnota distinctive ch

aracteristics of services ?

bil b)) Inseparability (3)  Var lit o
() TGl el e i £ ()  Perishabiity
AT ERUENIGE 3
S < ) i (4) fomegm

70, “Managementis the Artof getting things done through peoplg

Who saiq this 7

Mary Parker Follett A
() cReepnude () " CeOrgeR Terry  (4)  Hanri Fayol
vy e 3 g T A e ¢ uﬁﬁwwiﬁ y
By R ik O lThm st @) 0w
f-. }“q
71.  Match List-Iwith List-1L _ Mg
List-1 List- 11 s
Theorem Formula —
. P (Hi
A, Theorem of Addition L P (Hi/E) = -—(F-D.ﬂ
A P
B.  Theorem of Multiplication o P(EyE)= __Eplg_)ﬁl
1

C  Condinal probability L. -
D.  Bayes' Theorem Iv.
Tt - 1% a0 Tl - 11 1 fivem 1w .
a1
woT
A AmyEE I
B. T Wy 1
C.  wigwa fagm 1
D. 9wy
Choose the correct ang W

(1 ) A*m, !}“N’ C_I’ D_H

9 @

‘]_155'}

lﬂ“ two regression co. Efflnent are byy
re -

B B correlation ?

5")

'ﬂﬁ'fﬂ‘xﬁmmmbm‘ 6

-

wer fro Y :
(2 ﬁ%ﬁqﬂqﬁwmé;:{’:ﬁmm

PE1 U Bp) 284E:) + P (Ep)
P(E1 0 Ep) fPEY) X P (Ep)

()
- 11 ~
= 6!
o+ _ PAHinE)
P (Hi/E) = )
E
P (Ey/E,) = E’_(%L[E':T?_)

P(E; U E,) =P (E) +F(E2)

(1) 2857 o Mby= 3 g

!
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78.

79.

What are the two numbers whose arithmetic mean =18 and | ;

Mean =167
()20 and 16 L s ®)  2angy (#) 22and 14
ﬂMﬂfﬁiﬂwW=1ﬂ‘m T I = 16% 7
i

M 2 B N3 {3} *% @ 22314
Match List - T with List - 1L

List-1 List- I

Heads 539*?9“
A Agriculture Income L Section 10 (13A)
B.  Amount Received on . Section10(11)

voluntary retirement
. House Rent Allowance M. Section10(10CC)
D.  Provident Fund IV.  Section10(1)
qelt - 13 = el - 11 1 e i

-1 Tt -1

vird ST
A Fam L HRII0(13A)
B #fgsdfaiwwat@ 1 udi0a1)
C S fora v M =010 CC)
D yfasg iy v tm'lﬂ{]]

Choose the correct answer from the options given below :

TR e A @ s e e .

@ AIV,BILCLDA
(3 A-LBILCILD-IV

(2) " A-IV, BIILC-I, D]
4)  A-ILBLCIV, DI

Which of the following comes under the significant meaning of foreign exchange ?

A, Itisused to denote the rate
B.

C  Itindicates the rate of sale and

: at which different monetary units are exchanged.
Itis a process through which international payments are liquidated by different countries.

purchase of foreign currency.

D. Fnreign exchlngn Situation in one coun ﬂﬂtmm'm of the economy.
Mhmmwﬂhﬁﬂlﬂopﬁomyv : _
(1) A,B,Conly B.C, Droaily ) A’Q-Bnﬂy @ ABCD
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h List-1 with List - I1,

malc
i List-1
International Business List. 'n
App roacheg M :
A Ethnocentric Approach | ! lin
\ PolyceBirie (A RPEDSEH L “mpames establish foreign subsidiary and empower their executives
mestu: companies view foreign market as an extension to domestic
C Regiocentric Approach
p.  Geocentric Approach I gmpﬂmes view the entire world as a single country

gt -1 F o9 g - 1 foem (ﬁbﬁdmnes consider regional Environment for Policy strategy formulation

Tt -1
A S ST 8;“”

A L 3 ot it <epreat wenfva et # 9l iRl 1 e et €
b W L 5t s, foeit a1 1 e Al 3 foree 3 w0 3 S £

£ Ni g\ W St ot forva 1 et Ao & w9 & gt §

B RO V. it gameat <ifes comtf famor 3 e g wfan o o el &

Choose the correct answer from the options given below :
ra feu u foskel A B R 3 99 #if

(1) AL B CIV, D1l @)  A-LBIILCIV, DI
3 AL B-ILC-l, DIV 00 » AwsicnDum

8. Arrange the following steps ilwulvew qualitative research in the proper sequence :

A Reviewing of literature.
B [dentifying a research topic
C Setting the purpose and selgc&nf!’ﬁmf'l’ﬂ“‘
D. Writing the report
E Data collection and data amlﬂiﬁ-
I v B T e S o o H S 1
A wfee 1 wean
B. vy faum #1 vg=ad
. =47
C  3g2yg = fawioo sin gﬁﬂrﬁ“‘ @l

D. o engw
0 Heen oin g faverad ._ given below :
Choose the correct answer from th . 5
*“"ﬁnmmﬂrunﬁrmﬁ“ ' 3 GBAED @) BACED
0  ABCED C, : B}
B 4 - udlt is compulsory if a person is carrying on business, whose gross
nder section 44 AB of Income Ta é
Yrnover exceeds W @) Ba 0l Lakhs (4)  Rs.20crore
M Rs. 60 lakhs @ R _' e it & A (=2 g et v o 1@ e W v
[“*‘ﬂquﬁHmMABﬁ?.- ' s
T et & s B e o
SILE]
Y 9y (2) 25
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85.

B6.

87.

s ot B.  Individual Perfo
it sy S P Organisational Reward
D. Individual Goal E.  Organisational Goa)
=R wfqqifea sifwdTon & wamm fagia % e A ,
el LR ¥ 3 siqrsieiven % wla T F wf
"\7:'.
A =t fEaEa B. SAfFE Y= iy .
: € e TR
D. =Afgmm e E. HUSAHF #8g N

F i

Choose the correct answer from the options given below -

2 fam T fashed] @ @ W 39 F1 T34 i

() ACD,BE @ ACGCBDE L BACDE (4;[ C,A,D,EB

If an average 2 customers arrive at a shopping mall i ili in gi i

4 customers will arrive ? e~ 2= 1353 2 per inute, whatis probability that in given minute exactl

afe fordt wiffin gfat 4 wfa iz ofmm 2 wes & ™ fadt % g

il Lol R e i 4 et 5 e R e
N N

(1) 1804 @ 0902 ° @ 133~ @ 2706

Arrange the following procedure of e-filing of income tax retumm‘[.’;_roper sequence,

A Login B.  Register )
C Verificati i

erification D.  Downloading utilityand preparing return
E e-filing Income Tax Return

-

ST R 1 & fetn/ 2 303 31 et ol 1 <for 399 H rtfiom %

A T B. it
C N D.  FAfedt graeire & S RE TR wwn
E =
i R it
1005 emrrectanswel-fmm&leuphom : [T
given below :
4 RIS A4 3 0 3w C_:j _ bit s
1) BA,DE : e
@ = @  ABCDE @ DABCE @ BAcDrNYEL*
n& 2_‘{)
—bo -
betagis 3. %7
\
yY
et 3
"\ 42 008
AL 'py'
2
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